Plan view s:1/10

200 302 200
~im
/ & |
I 5 Y
/ : ' |
| (e NI |
N : : ° =
I 1 o
x 5 3
2 17 o £
I | S LD/
x! i HS?OO i RN
- T " | x| ©
g8 A ; ; A g~
1 1S )
, —————————— T‘ui"" ——————————————— S ——
/ 77 7
|
694 (cut out Iength)<—ICD
702 (sink length)
(
Sec A-A s:2s5
Insert nut 694 Insert nut

XYE-406080-CD

Modified silicone

Double sided tape

XYE-406080-CD

(cut out length)
Modified silicone

= Double sided tape

Q ***g

-

Spacer

Mounting bracket
(FABH-HV3852T21-F)

M4 Flat washer
Unichrome

M4x22 Pan head screw
Unichrome

W40xL30xt8 /[l

/

)

2%

Spacer
W40xL30xt8
Mounting bracket
(FABH-HV3852T21-F)

M4 Flat washer
Unichrome

M4x22 Pan head screw
Unichrome

28

20

SecB-B s:125

Insert nut
XYE-406080-CD

Modified silicone

Double sided tape

No. Classification Product name or code

’ Counter NaFuraI stone/
ceramic/quartz/wood
2 Sink HS700
Package

No. Product name Product code Quantity
1 Sink HS700 1
2 Drain cover HF106x166 1
3 Mounting bracket FABH-HV3852T21-F 6
4 Pan head screw M4x22 6
5 Flat washer M4 6
6 Insert nut XYE-406080-CD 6
7 Spacer W40xL30xt8 6
7 | Skimless drainage set - 1
8 Basket - 1

Separately sold items

No. Product name Product code Quantity
1 Bottle rack HS700-BR 1
2 Multi-plate HS700-MP 1
3 Cutting board HS700-CB 1

A Notice

1. % % % It is applicable with counter thickness of more than 12mm.

454
(cut out length)

N

Yk k

Insert nut
XYE-406080-CD

Modified silicone

Double sided tape

Spacer

7% 7
W40xL30xt8
Mounting bracket /
(FABH-HV3852T21-F)

M4 Flat washer
Unichrome

M4x22 Pan head screw
Unichrome

/

20
28

%% o

Spacer

W40xL30xt8
Mounting bracket

(FABH-HV3852T21-F)
M4 Flat washer

Unichrome
M4x22 Pan head screw

Unichrome

Title

Over mounting

Product Name

HS700

CD YOSHIMOTO

global

Scale 1/2.5 1/10

Draw No.

GP-240409




	Sheets and Views
	HS700 オンボードタイプ取付図


